Math 217





Name: _____________________
Quiz 1.2
Stemplots help you find the five-number summary (without using your calculator) because they arrange the observations in increasing order.  Exercise 1.15 includes a stemplot of the percent of residents aged 25 to 34 in each of the 50 states (see below).  The stems are whole percents and the leaves are tenths of a percent.  Montana and Wyoming have the smallest percents of young adults, perhaps because they lack job opportunities.
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15 | 2 4 4 7 8 9 9 9
1.  (4 pts)  Use the stemplot to calculate the five-number summary of this distribution.


_______  _______  _______  _______  _______

2.  (4 pts)  Does the 1.5 × IQR criterion flag Montana and Wyoming as suspected outliers?  _________  

Show your work clearly so I can understand how you got your answer:

3.  (4 pts)  Create a set of 5 positive numbers (repeats allowed) that have median = 12 and mean = 10.  


_______  _______  _______  _______  _______

